
 
 

EN: Th is Datasheet  is presented by the manufacturer .  

 

Please v isit  our  website for  pr icing and availabilit y  at  www.hest ore.hu. 

http://www.hestore.hu/


   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

1

Digital power supply case (S06A) assembly 

instruction 

This case is suitable for RD6006/ RD6006W 

Date:2019.10.24 

Dear users, thank you for purchasing the digital power supply accessory-metal case 

produced by Hangzhou Ruideng Technology Co., Ltd. In order to let you know more about 

the full function of this product, get a better experience and avoid misuse. Please read this 

instruction carefully before assembly. Keep it for future reference. 

ATTENTION: Since the assembly process involves voltage that exceeds the human body's 

safety, non-professionals should not operate, you must do insulation and protective 

measures during the assembly process, and check the wiring several times for safety, please 

place the product at a place that children and old people cannot get. 

Please use the switch power supply we recommend, and if you use other power source, 

check if the positions of fixing holes are suitable or not. 



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

2 

CONTENT 

Digital power supply case (S06A) assembly instruction .......................... 1 

1.Notes ............................................................................................ 2 

2.Product Dimension ........................................................................ 2 

3.Accessory List ................................................................................ 2 

4.Accessory Picture .......................................................................... 4 

5.Assembly Procedure ...................................................................... 5 

5.1 Assembly Preparation ........................................................... 5 

5.2 Assembly step ...................................................................... 5 



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

3 

1.Notes

● Read this iŶstƌuĐtioŶ ĐaƌefullǇ ďefoƌe asseŵďlǇ, if Ǉou still haǀe ƋuestioŶ, please ĐoŶtaĐt
us. 

Since the assembly process involves voltage that exceeds the human body's safety, 

non-professionals should not operate, you must do insulation and protective measures during 

the asseŵďlǇ pƌoĐess, doŶ’t foƌget to ĐheĐk the ǁiƌiŶg seǀeƌal tiŵes foƌ safety, and place the 

product at a place which children and old people can not get. 

● This Đase is ŵade of Đold-rolled steel plate and the surface is sprayed. When assembling

and using, prevent it from scratching by sharp objects, and avoid direct sunlight and humid 

environment. 

● Aǀoid shoƌt ĐiƌĐuit ǁheŶ asseŵďliŶg, ĐoŶŶeĐt the eleĐtƌode ĐoƌƌeĐtlǇ.
● NEVER ĐoŶŶeĐt the Đaďles ǁith the poǁeƌ ON.
● TƌǇ to aǀoid ǀiďƌatioŶ aŶd fall.

2.Product Dimension

3.Accessory List

NAME SPECIFICATION QUANTITY PICTURE 

Upper Board S06A upper board 1 

Lower Board S06A lower board 1 



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

4 

Fan 50mm*15mm 1 

Fan power board 33mm*33mm 1 

Screws for 

fan power board 
M3*5*7 3 

Foot pad fixing 

screws 
M3*5*7 4 

Fan fixing 

screws 

Round screw 

M3*13 

M3 nut 

6 

Cables 

brown：2 

yellow-green：1 

blue：1 

red：1 

black：1 

6 

Rocker switch KCD3 1 

AC power socket AC-03 1 

Non-slip mat Φϭϯ*ϰ 4 

switch power 

supply fixing 

screws 

M4*6  flat  head 4 

Case fixing screws 
M3*6 flat  head 

white 
10 



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

5 

4.Accessory Picture



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

6 

A: Upper Board B:Lower Board 

C: M3 Nuts D: M3 Round Screws 

E: M4 Flat Head Screws F: M3 Flat Head White Screws 

G: M3 Black Screws H: Non-slip mat 

I: Rocker switch J: AC power socket 

K: Fan power board L: Fan 

M: Cables 

5.Assembly Procedure

5.1 Assembly Preparation 

● RD6ϬϬ6 digital poǁeƌ supplǇ*ϭ, SϬ6A Đase*ϭ, 6ϬV6A sǁitĐh poǁeƌ supplǇ*ϭ
● Tools, aĐĐessoƌǇ;DC poǁeƌ supplǇ, ϯ piŶ plug Đaďle, ŵultiŵeteƌ, sĐƌeǁ dƌiǀeƌ, test peŶĐil...Ϳ
● Pƌopeƌ asseŵďlǇ environment

It is recommend to use a 400W 60V switch power supply as shown below.

5.2 Assembly step 

Note: The case material is a bit soft and may be slightly deformed during transportation. If 

there is a gap during the assembly, please straighten it before assemble it. If you find the 

temperature inside the case is high. You can install the fan of the 60V switch power supply in the 

opposite way, the heat dissipation is better in this way. 

༃CheĐk the aĐĐessoƌies: ĐheĐk if the aĐĐessoƌies of SϬ6A aƌe saŵe as aĐĐessoƌǇ list oƌ
accessory picture. 

༄CheĐk RD6ϬϬ6: ĐoŶŶeĐt the loŶgest Đaďle to the iŶput iŶteƌfaĐe of RD6006, and then

adjust input power supply to 12v/1A to power on RD6006, and set 5V/1A output on RD6006, turn 

on the output to see if the output is normal or not. 

༅BaĐk ďoaƌd asseŵďlǇ: iŶstall the ƌocker switch, AC power socket and fan on the lower

board. 



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

7 

༆IŶstall the sǁitĐh poǁeƌ supplǇ: iŶstall the sǁitĐh poǁeƌ supplǇ oŶ the loǁeƌ ďoaƌd.

༇CoŶŶeĐt Đaďles to sǁitĐh poǁeƌ supplǇ: ;daŶgeƌous, non-professionals should not

operate) 

Use the brown cable to connect the rocker switch and the live wire (L) of the switch power 

supply; then use the brown cable to connect the rocker switch and the live wire (L) of the AC 

power socket; Use the blue cable to connect the neutral wire (N) of AC power socket and the 

neutral wire (N) of switch power supply; Use a yellow-green two-color cable to connect the 

ground wire (E) of AC power socket and the ground wire (〨) of switch power supply. 



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

8 

༈sǁitĐh poǁeƌ supplǇ test:
check the wring again and power on the switch power supply, and use test pencil to check

the power and insulation status. Then use multimeter to check if the 60V output is normal, then 

use screw driver to adjust the output of the switch power supply to 65V. 

༉IŶstall the faŶ poǁeƌ ďoaƌd: iŶstall the faŶ poǁeƌ ďoaƌd to the corresponding position.



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

9

༊IŶstall RD6ϬϬ6: iŶstall RD6ϬϬ6 oŶ the fƌoŶt side aŶd ĐoŶŶeĐt the eǆteƌŶal seŶsoƌ.

་CoŶŶeĐt the ƌest Đaďles: ĐoŶŶeĐt the iŶput of RD6ϬϬ6 to the output of sǁitĐh poǁeƌ
supply, and connect the input of fan power board to the output of switch power supply, connect 

the fan cable to fan power board. 

༌Power on and test

Connect power cable and turn on the switch, the fan start to work.

(Note:Temperature-controlled fan, when the RD6006 is powered on below 40℃, it will work for 3 

seconds and then stop, and it will run at low speed below 40℃-50℃,  run at medium speed 

below 50℃-60℃,  run at full speed when the temperature exceeds 60℃) 

།Install the screws of the case



   声明˖本说明书著作权ᖂ杭州睿登科技有限公司所有，未经允许任何单ս或个人н得用于商业用途Ǆ 

10

༎IŶstall the foot pads.

༏FiŶal eŶeƌgizatioŶ test


	数控电源钣金外壳（S06A）组装说明
	1. 注意事项
	2. 产品尺寸
	3. 配件列表
	4. 产品配件图
	5. 组装步骤
	5.1组装准备：
	5.2 组装步骤：


	Digital power supply case (S06A) assembly instruction
	1.Notes
	2.Product Dimension
	3.Accessory List
	4.Accessory Picture
	5.Assembly Procedure
	5.1 Assembly Preparation
	5.2 Assembly step



